IOPSClence iopscience.iop.org

Home Search Collections Journals About Contactus My IOPscience

Stochastic Loewner evolution and Dyson's circular ensembles

This article has been downloaded from IOPscience. Please scroll down to see the full text article.
2003 J. Phys. A: Math. Gen. 36 12343
(http://iopscience.iop.org/0305-4470/36/49/c01)

View the table of contents for this issue, or go to the journal homepage for more

Download details:
IP Address: 171.66.16.89
The article was downloaded on 02/06/2010 at 17:19

Please note that terms and conditions apply.



http://iopscience.iop.org/page/terms
http://iopscience.iop.org/0305-4470/36/49
http://iopscience.iop.org/0305-4470
http://iopscience.iop.org/
http://iopscience.iop.org/search
http://iopscience.iop.org/collections
http://iopscience.iop.org/journals
http://iopscience.iop.org/page/aboutioppublishing
http://iopscience.iop.org/contact
http://iopscience.iop.org/myiopscience

INSTITUTE OF PHYSICS PUBLISHING JOURNAL OF PHYSICS A: MATHEMATICAL AND GENERAL

J. Phys. A: Math. Gen. 36 (2003) 12343 www.iop.org/Journals/ja  PII: S0305-4470(03)71672-2

Corrigendum

Stochastic Loewner evolution and Dyson’s circular ensembles
Cardy J 2003 J. Phys. A: Math. Gen. 36 L379

In the published paper [1], it was noted that the only form of the result for the joint p.d.f. of the
boundary points that is consistent with conformal field theory (CFT) is [];_, (e — ef)2/x
which is different from the equilibrium distribution of the corresponding Dyson process, where
the exponent is 4/«. A possible explanation of this discrepancy was given.

Recently, however, we have performed an ab initio CFT calculation [2]. This confirms
the exponent 2/k, but it also shows that the correct source of the discrepancy lies in the
assumption above equation (13) that the measure on the curves is conformally invariant. This
is too strong—if instead we allow for it to be invariant up to a conformal factor [ | il g, (e X
(where hy 1 = (6 — «)/2k), then the results of the two computations agree.

The corresponding Calogero—Sutherland model then turns out out to have 8 = 8/«. The
reader is referred to [2] for details.
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